
PATENT PRODUCT
Grille Installation Instruction

Part# DL5318P Application For 2006-2008 Ram 1500 / 2006-2009 Dodge Ram 2500 / 3500

Page 1 of 2

The instruction here is for your reference only. We strongly recommend the professional installer for best
result. We are not responsible for any damage caused by the installation.

Thank you for choosing our product!

Rev. 20230201

Parts List

Item Part Name QTY Description Item Part Name QTY Description
#1 Mesh Grille 1 Black Powder Coated SS. #4 Square head Bolts 6
#2 Flange Nuts 6 M6*20 #5 Screws 6 M6
#3 Flat Washers 6 M6

Install Notes: Overlay Replacement Drill Cut

Step Description illustration

1 Identify the grille & hardware with parts list.

2
Using a 8mm socket locate and remove 6 factory bolts
securing the upper portion of the factory grille onto
vehicle. Discard factory hardware.

3
Using a 8mm socket locate and remove 6 factory bolts
securing the lower portion of the factory grille onto
vehicle. Discard factory hardware.

× √ × ×



PATENT PRODUCT
Grille Installation Instruction

Part# DL5318P Application For 2006-2008 Ram 1500 / 2006-2009 Dodge Ram 2500 / 3500

Page 2 of 2

The instruction here is for your reference only. We strongly recommend the professional installer for best
result. We are not responsible for any damage caused by the installation.

Thank you for choosing our product!

Rev. 20230201

4
Close the vehicle hood. Firmly grab and pull factory
grille off of vehicle. Set factory grille aside in a protected
area.

5 Slide (6) Square head bolts on the upper portion as shown below.

6 Place the grille onto vehicle. Open the vehicle hood. Secure with (6) flange nuts. Repeat for remaining bolts and flange
nuts.

7 Place screws with flat washers through the factory holes and onto the grille (lower portion). Tighten down screws with a
screw driver.

8 Installation completed.


